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Body Capacities
Heaped SAE 2:1 231 m 30.2 yd?
Struck 17.8 m? 23.3 yd?
Heaped SAE 1:1 285 m? 37.3 yd?

MD“A&Q)‘A‘SQ



Sy oy SR

oolatw! b8 olg

9 (s 0L g S35



GR(KgFWS:, Qo jOX 10 Kgit)x Omsle 39 (ton)

;
o3l b Lyl ' RRF (kgt)=20+6 x Hicm)

Sgi (0 P8 SRSy Coglie (g Ygere (6 iy 75>

Cow! s,agJ.b.o.M).>+7 oél’wgﬂwMS k&= QB.OA)M.O.oeuaGO =ilo ¢y39: JUw
il € 5> (gl 5L 990 OleF Ao

RR=(20+6x5)x60=3000Kg , GR=7x10x60=4000K(g

3 8590 4lei=RR+GR=3000+4000=7000Kg
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740

Ejector

Articulated Truck

Retarding Performance

CAT

To determine performance, read from

Gross Weight down to % Effective Grade.
Effective Grade equals actual % favorable
grade plus 1% for each 10 kg/metric ton

(20 Ib/ton) of Rolling Resistance. From this
point, read horizontally to the curve with

the highest attainable speed range. Then, go
down to Maximum Speed. Retarding effect
on these curves represents full application of

the retarder.

12

1 — 1st Gear
2 — 2nd Gear
3 — 3rd Gear

4 — 4th Gear

GROSS WEIGHT

30 40 50 60 70 80 kg X1000

0 10 20
T
0 20 40
1
2

60 80 100 120 140 160 180 Ib X 1000

% EFFECTIVE GRADE (FAVORABLE)

E — Empty 35 610 kg (78,507 Ib)
L — Loaded 73 610 kg (162,282 Ib)

0 5 10 15 20 25 30 35 40 50 mph

0 10 20 30 40 50 60 70  km/h
SPEED

E —5th Gear

6 — G6th Gear

T — Tth Gear
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Rimpull
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Drawbar pull
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130 CAT STANDARD*

Articulated Truck GHDSE WEIG HT
§ E 0 5 10 15 20 25 30 35 40 45 50 55 60 kgx1000
= = | I I I | I I I | I | I | ™
=
Gradeability/Speed/Rimpull B a0 a2 & ® B 10 ™ 2R S
35 |- El Ll X
To determine performance, read from 0 L I I EE (¥ ]
Gross Weight down to % Total Resistance. 0 = I I wi E
Total Resistance equals actual % grade plus 60 5 I I ¢y
1% for each 10 kg/metric ton (20 Ib/ton) of ag L =t I I = o
Rolling Resistance. From this point, read - - ; = )
horizontally to the curve with the highest — 50 - I I 40% -z
attainable speed range. Then, go down to E 20 - . I 35% E =
Maximum Speed. Usable Rimpull depends E 40 = I 1 | v
on fraction available. — 15 L o 58, wo
o 30 I e
1 20% =l
10 | . L5
20 15% ==
0% o
S 10 w
5% =)
I || é
0 3 10 15 20 25 20 35 mph 9
| I l l l I | —_—
0 10 20 30 40 =0 60 kmi/h
SPEED
1A — 1st Gear 3 — 3rd Gear E — Empty 22 850 kg (50,376 Ib)
(Converter Drivel] 4 — 4th Gear L — Loaded 50 970 kg (112,370 |b)
1B — 1st Gear 5 — 6th Gear * at sea level
(Direct Drivel 6 — 6th Gear

| 2— 2nd Gear




Power Shift with Differential Steer

kgx Ibsx

1000 1000

gy — 180

160
[

1F

120
= -

= 120
= %[

D9T a 100
2

Track-Type Tractor = 80
z wp

E 60

i 2F
A7

3F

1 2 3 5 5 6 1 2 mph
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